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General instructions

. Please read the given instructions carefully and adhere to them.
. All the questions are compulsory.

. This paper contains 31 questions.
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. This question paper has been divided into four sections - section A,B,C and section D.

. Section A contains 15 objective questions and each question carries one mark each.

. Section B contains question 16 to question 22 and each question carries 2 marks each.
. Section C contains question 23 to 29 and each question carries 3 marks each.

. Section D contains question no. 30 and 31, each question carries 5 marks each.

. Section B and C has two questions each of internal choice. Attempt any one.

10. Section D carries two questions ,each with an internal choice . You can attempt any

guestion of your choice.
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Q1. Providing energy to body and building new cells is the function of food
a. Social function

b. Physical function

c. Security function

d. All of the above
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Q2. Most prosperous tradition of ‘lkat’ weaving exist in the state
a .Punjab

b. Gujrat

c. Orissa
d. Andhra Pradesh
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Q3. What do we call the development of senses?
a. Cognitive development

b. Emotional development

c. Sensory development
d. Language development
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Q 4. Mental evaluation and keeping record are two essential steps of maintaining a
a. Bank account

b. Budget

c. Income

d. Planning
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Q 5. Which of the following scheme helps to safeguard your principle amount
a . National savings certificate

b. Public provident fund

c. Fix deposit account

d. All of the above
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Q 6. Non verbal communication is best for which category
a. Students

b. Teachers

¢ deaf and dumb
d. Farmers
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Q7. Making the best use of available resources is called

ToT 8 T TaH Hged ol Fwefta . 3T 2l

Q8. & are too very important kashidaas.

w7 9 ToRelt T 1 T T o Torw o 7 FST A9 &7 ST gt e forshTe FgaTar 2 |

Q9. Using bigger muscles of body to do any task is called development.
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Question number 10 to 12 should be answered in one sentence

T5T 10 UH TS & < T 07 &9 FAT S ?
Q10. What is the full form of SITE ?

T 11 FH F FH THT | 180 & STTAh w1 e 67 Iioram 7 F 9T Fgd & ?

Q11.What do we call the process of accomplishing maximum task in minimum time span?

o7 12 Thegl &1 UHT TSt & 978 Fars e s H ge T g ?

Q12. Give names of two such schemes in which Income tax debate can be obtained?
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Assertion (A) : Non- verbal communication means sending your message across without the
use of words.
Reason ( R) : radio, television and internet are mediums of mass communication

a. Both assertion( A) and reason ( R) are correct and the reason is the correct explanation

of the assertion

b. Both assertion( A) and reason( R) are correct but the reason is not the correct
explanation of the assertion
Assertion( A) is correct but the reason( R) is incorrect
d. Assertion( A) is incorrect but the reason( R) is correct
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Assertion (A) : ‘Bandhej’ is a special design of tie and dye technique.
Reason ( R) : ‘Phulkari ’ is the traditional weaving art form of Punjab.
a. Assertion (A) and reason (R) both are correct and the reason is the correct explanation
of the assertion
b. Assertion (A) and reason (R) both are correct but the reason is not the correct
explanation of the assertion
c. Assertion ( A) is correct but the reason(R) is incorrect
d. Assertion (A) is incorrect but the reason ( R) is correct.
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Assertion (A) : WHO advocates at least 6 months of breastfeeding for a child
Reason ( R) : Breast milk contains all the nutrients needed by a child and gets easily digested.
a. Assertion (A) and reason (R) both are correct and the reason is the correct explanation
of the assertion
b. Assertion (A) and reason (R) both are correct but the reason is not the correct
explanation of the assertion
c. Assertion ( A) is correct but the reason(R) is incorrect
d. Assertion (A) is incorrect but the reason (R ) is correct.
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Q 16. What do you understand by ‘Identity formation’ ?

o 17 T TaTEs TRTSH o ETY TaTEsd hi qIOsToT 747 67

Define health as put forward by World health organisation
ATqT

OR
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Define nutrition and nutrients ?

W7 18 AT JoF 37 37 =T & = 3 warer 1 ot g g w7 2

Justify the relation between child mortality rate and poverty.

T 19, ATEA T T ST AT T3 H FAT (AT g ?
Q 19. What is the difference between ‘real self’ and ‘ideal self’

T 20 . TATE TEE il T IhdT AT |

Mention a few tricks to cope with stress.
OR

I A0 AT TTEAAT AT A Th % TE 0T HIA-HIF G g & ?

What are the main qualities of a person who is rated high on wellness ?

o7 21 TIATET0T T TRATINT F

Q21. Define immunization

o7 22 Tt ToReTT GTRT STeTel |7 HggH i & & HATA HIEU RIF-HIT gl Tohd a7

What can be the two possible reasons of an adolescent feeling absurd or weird?

g T
Section C

5T 23 T FT TS TAT AAITF §- TH T2F T TR T ?
‘Management of resources is the need of the hour’ - throw some light on the statement?
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Q 24. Give three reasons to prove that the field of home science is now equally important to
boys as it is for girls?
AT
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Enumerate the main objectives of Home Science Education.

5T 25 T qcal ol SATALTARAT I THATAT HLd ATl TG FIEHT o ATH FqT0 ?

List down various factors that affect the nutritional requirements of a person.

ToT 26, THT T T FIfaam G899 § g7y

Q 26. Explain in brief the tools in time management ?

T 27. TFT o TRLTH AT el T STATFHATSA il (€A Tah F4T o710 ?

Q 27. Discuss any three features of a child apparel in detail.

T 28 HITeE AT TR % Fg, SUTH TATUI

Q 28. Suggest a few ways to increase monetary income of a family.
EREN
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What are the advantages of planning a family budget?

o7 29. TATere afmsTT & Far st g fst a1 fatarg aRemstret 1 99 # 9viq a7

Q29. What is meant by the terms special or functional finishes . Briefly explain any two special
finishes .

g3~ T (Section- D)
T 30 FheTI e TH AR Ha el THEATS & @ FHILT IqTC|
Q.30 Elaborate various reasonsor causes of dietary problems during adolescence.
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Explain in detail the food pyramid and also elaborate upon its uses in our daily routine.

T 31. AT qAT fesie § ¥ #72 |
Q 31. Explain the difference between soaps and detergents.
EREN
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Mention a few important points to be considered while removing stains.



